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Lau: Itis named as “Herf Imtinaa’in”. It is for prohibition, for forbiddance. One thing is forbidden through it. It is used for three things.
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Gives the meaning of Shart (condition). —‘Lt:ﬁ) @AKL/& @i}lﬁ\ (1)
Gives the meaning of Shart (condition) in the Past. —‘Lt:‘,)t}’, KL;J:&L (2)
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Occurs in the sense of forbiddance/prohibition. —U}’z;/gb.d’}?('_—,.?} JL!:;U{’ LL/ uj‘{-é"—
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You say: If you had worked hard, surely you would have definitely passed. The success has been forbidden because one did not work hard.
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Abstaining from working hard has forbidden being successful. It means “You did not do any hard work, so you did not pass.
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When the Jawaab (reply) is positive, it occurs with ‘Laam’ as it is in the previous example. ‘Najahta’ is the Jawaab to ‘Lau’ which is positive. ‘Ma Najahta’ is

not used here. So ‘Laam’ occurs on it (the reply).
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When its Jawaab is negative, ‘Laam’ does not occur on it. Here, the reply is: | would not travel, which is negative with Ma Nafiyah. So there is no ‘Laam’ on it.
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Sometimes ‘Anna’ occurs after ‘Lau’ as it is there in the hadeeth. e.g. Even if indeed Fatimah, the daughter of Mohammad had committed theft, surely |
would have cut her hands.
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If you had beaten me, | would surely have beaten you.

Jawaab has ’Laam’-(‘Ll[JTrU{.hf'}?)
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This food is rotten/spoiled.If people eat it, they will surely fall sick.
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If you had worked hard throughout the year, you would not have been regretful now.
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Because of Ma Nafiyah, there is no’Laam.-(.L: ’drUiJ"Ld) \-ﬂ/)
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You would surely have cried if you had witnessed the scene.
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Summary: ‘Lau’ is basically the conditional particle. It is said to be the particle of forbiddance. In the example, absence of success is due to absence of hard
work. As there is no hard work, there is no success.
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